
E L E V A T I N G  C U L I N A R Y  E X C E L L E N C E

PARTS BREAKDOWN

ITEM MODEL

49099 CE-IT-0090

74

35

7

71

45

10

48

32

53

93

92

2033

21
74

35

7

11

12

34

73

2

1
47

91

46

13

4

27

24

25

26
15

13

86

6

16



E L E V A T I N G  C U L I N A R Y  E X C E L L E N C E

PARTS BREAKDOWN

ITEM MODEL

49099 CE-IT-0090

53 56 57

54 55

4

3

3.1

75

60

76

37

38

36

3940



E L E V A T I N G  C U L I N A R Y  E X C E L L E N C E

PARTS BREAKDOWN

ITEM MODEL

49099 CE-IT-0090

93.2 93.3

93.4

93.1

93.8

93.5

93.4

8

22

8

22

92.4

92.6

92.5

92.1

92.4

92.2 92.3



E L E V A T I N G  C U L I N A R Y  E X C E L L E N C E

PARTS BREAKDOWN

ITEM MODEL

49099 CE-IT-0090

43

42

30

29

19

5

5

17



E L E V A T I N G  C U L I N A R Y  E X C E L L E N C E

PARTS BREAKDOWN

ITEM MODEL

49099 CE-IT-0090

18

41

18

18

59.12

59.1

59.2

59.1

58.1

58.12

58.2

58.1

58.6

58.4

58.5

59.4

59.5

59.6



E L E V A T I N G  C U L I N A R Y  E X C E L L E N C E

PARTS BREAKDOWN

ITEM MODEL

49099 CE-IT-0090

Item No. Description Position Item No. Description Position Item No. Description Position

AS254 Drain Cover for 49099 1 AS264 Water Inlet Valve Connection 
for 49099

18, 
58.1, 
59.1

AV080 Nozzle Holder Connector 90 
Cod.400021 for 49099 36

AS253 Top Drainer Grill for 49099 2 AV083 Connector M/F 90° 16x1,5 
F.10 311456 for 49099 19 AV082 Nut M20x1.5 Hole 10 0907/1 

for 49099 37

AV056 Cam.Comb.Assem. Inf. 
CPG909/980S/USA for 49099 3 AV129 Foot 2" Stainless Steel 150 - 

210 for 49099 20 AV084 Bicone 10 Reduced 0910 for 
49099 38

AS274 Burner Pasta Cooker S.90 for 
49099 3.1 AS251 Door Magnet for 49099 21 AV081 Brass Hexagonal Nut 19x4 

Thread 14x1 for 49099 39

AV057 Cam.Comb.Assem.Sup.CPG 
Plus/USA for 49099 4 AS263 Protection Pipe Exhaust for 

49099 22 AV143 Nozzle Ott.CH11x13 M10x1 
"Generic" for 49099 40

AS272 Gas Tap 21/S with Fittings for 
49099 5 AV136 Washer FE/ZN M16 17x30 Din 

125 for 49099 23 AS294 T Junction for 49099 41

AV130 Cooker Tap Support 900 
S.990S for 49099 6 AV137 Pasta Cooker Gas Inlet Pipe 

1/2 for 49099 24 AV144 Copper Tube 10 Rub/Rub 
CPG S.700/980S for 49099 42

AV068 Ignition Support CPG/FRG 
S.7/9S for 49099 7 AV086 Bicone Oct. From 16 ACQ7001 

for 49099 25 AV111 Gas Pipe 6 Copper Pil/Rub 
CPGS.7/9S for 49099 43

AV066 Stainless Steel Flange 50x50 
Hole D.35 for 49099 8 AV087 Nut Ott.1/2 X Bicone 16 

ACQ7703 for 49099 26 AV145 Central Reinforcement Foot 
Cooker Plus for 49099 44

AV131 Front Protection Cooking 
Tank 90 S.990S for 49099 9 AV138 Leg Cam.Comb.CP Gas 2V 

S.90S for 49099 27 AS259 Hinge for Door for 49099 45

AV052 Right Side Pasta Cooker 
S.980S for 49099 10 AV139 CP 2V Exhaust Group 

Attachment for 49099 28 AS257 Cast Iron Exhaust Grate 
450x70x40 for 49099 46

AV053 Left Side Pasta Cooker 
S.980S for 49099 11 AS267 Gas Collector Bicone D10 for 

49099 29 AV146 Assy. Prol. Cam. X Lift. 900 
UL for 49099 47

AV132 Pasta Cooker Back 900 
S.990S for 49099 12 AV140 Nut M16x1.5 F.10x Rubin S.7 

0907/6 for 49099 30 AV100 Sheet Metal Handle Plus for 
49099 48

AS262 Nut FE/ZN D10 for 49099 13 AV141 Compass Opt.Distance Pilot 
10x8 for 49099 31 AV108 Door Spacer D10x38 S.7/9S 

for 49099 49

AV133 Nut AVP/ZN Thread 3/8 CH 
27x7,5H for 49099 14 AS250 Front Door for 49099 32 AV109 Stainless Steel Screw M5x50 

Din933 for 49099
50, 
58.5, 
59.5

AV134 Nipples ES.18x50 Thread 3/8" 
Galvanized for 49099 15 AV142 Pasta Cooker Pedestal 900 

S.990R for 49099 33 AV110
Stainless Steel Washer M5 
5x15 UNI6593 (Grem) for 
49099

51

AV074 ABA Aluzink Clamp Diam.32-
44 for 49099 16 AS268 Spout for 49099 34 AV101 M5 Hexagon Insert Zinc-

Plated for 49099 52

AV135 Gas Distributor 2V Cook. 
Style.S.7/9 for 49099 17 AS279 Piezoelectric Ignition for 

49099 35 AV147 Dashboard Assy. CPG 900 UL 
for 49099 53



E L E V A T I N G  C U L I N A R Y  E X C E L L E N C E

PARTS BREAKDOWN

Item No. Description Position Item No. Description Position Item No. Description Position

AV094 Milo Gas Front Machine Ring 
for 49099 54 AS285 Inox Flex Pipe for Spout 

DN10x1200 for 49099 66 AV120 PVC Stickers "CE" Mark 2 Col.
D for 49099 82

AV095 Milo Gas Knob D.10 for 
49099 55 AS271 Inox Flex Pipe for Spout 

DN10x800 for 49099 67 AV121 Off-Cal Descaling Detergent 
for 49099 83

AV096 H2O Tap Ring - General for 
49099 56 AV151 Bended Hose 316L DN16x550 

9360-0550 for 49099 68 AV153 Packaging 920x920x1300 
(900x900) for 49099 84

AV097 Milo Knob D.6 ELE for 49099 57 AV113 OT Nozzle CH12x30 M10x1 
F.3,00x300R for 49099 69 AV123 Machine Connection Plate for 

49099 85

AV148 Assy. Tap 1 + Connection 
CPG2V for 49099 58 AV114 Nozzle Ott.CH12x30 M10x1 

F.1,90x190 for 49099 70 AV124 Pasta Cooker Exhaust Pipe 
D.40x650 for 49099 86

AV103 Stainless Steel 316 Ball Tap 
F/F 1/2 for 49099

58.2, 
59.2 AV073 Handles FE/ZN 9x34xM5 Crus 

for 49099 71 AV125 Gas Pasta Cooker 
Instructions for 49099 88

AV104 Stainless Steel Screw M5x30 
Din933 for 49099

58.4, 
59.4, 
90

AV152 Stainless Steel Pin D.5x35 
Cooking Grid for 49099 72 AV127 M5 Stainless Steel Nut 

RONDDL. Din for 49099 89

AV106 Sal. Welded CPG Valve 
Adapter for 49099

58.6, 
59.6 AV058 False Bottom GN1/1 Sheet 

Metal Tank for 49099 73 AV154 Assy.Plan/V.Pasta Cooker 2V 
Gas for 49099 91

AV107 Stainless Steel 316 Elbow MF 
1/2 for 49099

58.12, 
59.12 AS280 Ignition Cable CM.50 for 

49099 74 AV155 Water Drain Group Left CPG 
2V USA for 49099 92

AV149 Assy. Tap 2 + Connection 
CPG2V for 49099 59 AS273 Piezo Spark Plug for 49099 75 AV060 1" FFF Stainless Steel 316 "T" 

Connector for 49099
92.1, 
93.1

AS275 Pilot Burner for 49099 60 AS276 Thermocouple CM60 for 
49099 76 AV061 Elbow 90 MF 1 Stainless 

Steel 316 for 49099
92.2, 
93.2

AV070 Chimney Deflector Cooker 
S.900S for 49099 61 AV116 Braided Fiberglass Sheath 

SHT D6 for 49099 77 AV062 Welded Socket. Stainless 
Steel 316 1"x40mm for 49099

92.3, 
93.3

AV112 Gas Pipe 10 Copper Bruc/Rub 
CPGS.7/9S for 49099 62 AV079 Grounding Comb Terminal for 

49099 78 AV063 Extension M/F 1x30 Stainless 
Steel 304 for 49099

92.4, 
93.4

AS270 Inox Flex Pipe Water Supply 
DN10x700 for 49099 63 AV117 Felt Lamell. Roll 

1000x10000x20 for 49099 79 AV064 Stainless Steel 316 M/F Ball 
Tap 1 for 49099

92.5, 
93.8

AS295 Inox Flex Pipe for Water Inlet 
Tap DN10x500 for 49099 64 AV118 Rock Wool D.100mm 

1000x600x20 for 49099 80 AV065 3 PCS 1" MF Stainless Steel 
316 Nozzle for 49099

92.6, 
93.5

AV150
Bended Pipe 316L 
DN10x1000 7786-1000 for 
49099

65 AV119 Offcar Logo 36x36 Metal Thin 
Label for 49099 81 AV156 Water Drain Group Right CPG 

2V USA for 49099 93

ITEM MODEL

49099 CE-IT-0090


